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ENOB [b]

Codes number

5 Summary

5.1 Frequency changes

Delta INL for different frequencies

ENOBS for different frequencies
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5.2 Common voltage changes
ENOBS for common voltage variation Delta INL for common voltage variation
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Missing codes for common voltage variation (number)

Min value [LSB]

Missing codes for common voltage variation (min value)
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5.3 Reference window shift

50 T T
Number ——
40
5
= 30
=1
o
1%
[}
3 20
S .
10
0
11 1.2 13 1.4 15 1.6 1.7 1.8 1.9 2
VCM [V]
Thresholds for common voltage variation
0.15 T T T
thigy ——
thnigh
0.1
— 005
=
o
2 0
[7]
<4
£
-0.05
0.1 S S B ==
-0.15
11 1.2 13 1.4 15 1.6 1.7 1.8 1.9 2
VCM [V]
ENOBS for reference window shift
6.7 T T
enobs XY ——
enobs Fit
6.6
6.5
= 64
0 -
2 P
Z 63 =
6.2
6.1
6
-0.2 -015 -0.1 -0.05 0 0.05 0.1 0.15 0.2
Window Shift [V]
Missing codes for reference window shift (number)
50 T
umber ——
40
5
= 30
3
o
1% T
4} i i
2 2 - <
o ~—_ - ~
10
0
-0.2 -0.15 -0.1 -0.05 0 0.05 0.1 0.15 0.2
Window Shift [V]

37

INLjay - INLyyin [LSB]

Min value [LSB]

Delta INL for reference window shift

6.4

" Delta INL XY ——
Delta INL Fit

6.2

6

5.8

5.6

54

5.2

5

4.8

4.6

4.4

0.

-0.05 0 0.05 0.1 0.15

Window Shift [V]

2 -015 -01

Missing codes for reference window shift (min value)

0.2

250

200

150

100

50

T T
Min value ——

0
-0.2

-0.05 0 0.05 0.1 0.15

Window Shift [V]

-0.15 -0.1

0.2



ENOB [b]

Codes number
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5.4 Reference window size
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